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[1] Sanford Donad E. Knuth

Do people know the * Tower of Hanoi’s problem? You have 3 pegs, and
you have disks of different sizes. You' re supposed to transfer the disk from
one peg to another, and the disks have to be sorted so that the biggest is
always at the bottom. You can move only disk at a time.
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a n
b,=b,+n Db=1
a, =2b, ,+1
(1). b,=b,,+n b=1
n
n
b,=b, ,+(n-)+1=Db ,+n
(2. a,=2h, ,+1
n
n
( )
a,=b ,+1+b ,=2b ,+1
a,=n*-n+1=2CJ +1
a,
a,=2b ,+1
=2b, ,+(n-1]+1
=2b ,+1+2(n-1)
=a ,+2n-2
a,

a =n"-n+1=2CJ +1
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L,(n) m
Lo [
L,(n) D : D
Loy [T 0] [ [ []
Ls(n) D D D | |:| D D
Loy [ L] [ L] [ ] [] 1 [
L, (n)
X x L) 23 P
X L,(n) P=4
X( )
P—XZ_X+2—CX 1
X 2 =L
X X x—1 X
X
1+2+34------ +( _1):X(X2_1)
X x(x—l)+1
2
X2—x+2_Cx L
2 I}
QED
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Algorithm L(m,n)



2. {
3. L(m2) =1
2
4. it n>" "2 hennem—m+2-n
S. fori = 1ton
o
6. Lm =12y
1. forj :=i—-1tolstep-1
o o
8. Lm =2 e ym T2y
9 next j
10. next i
11. }
Algorithm L(m,n)
Statement Steps
1. Algorithm L(m,n) 0(0)
2 { 0(0)
3. L(mD=1 o@®
2
4. it ns> M2 e ne 2 —m+2-n 0@
L (n
5. fori == 1ton O(n) m (M)
P
6. Lm == *2) o)
7. forj :=i—1to1step-1 n(n+1 1
oM(n+D,
2
2 2 i—1
8. L(m,’ I+2+j)<—L(m,| I+2—j) o@®
9. next i 0@
10.  next | o
11. } 0(0)
Total n(n+1
oo (2 ))
n
n (
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Algorithm L-2(n)
{
fori:=1ton

.2_.
it " 712 1 then

exit for
iZ—i+2

eseif > n then

symmetry «—i-1
exit for
10. end if

1
2
3
4
5. Return i
6
7
8
9

symmetry® — symmetry + 2

1. ne(n—(n-

12. Algorithm L-2(n)
13. }

2
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Statement Steps

1. Algorithm L-2(n) 0(0)
2. { O(0)
3. fori=1ton O(n)

o
4. it “22 o then oW
5. Return i o
6. exit for 0@
N e )
1. eseif > n then o@®
8. symmetry «—i-1 o@
9. exit for o
10.  endif O(1)
2 —
11, ne (n-(n-Ymmetry ?’mme”y* 2y | ow
12. Algorithm L-2(n) o(n?)
13. } 0(0)
Total O(n%)
L, (n) L, (n) m
n L..(n) X x—1
T(x,1) n
n X

2

X:{—1+,/1+8(n—1)
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P<n<P

X+1

X2 — X+ 2 X% + X+ 2

<n<
2 2
1-1+8(n-D _ _1+/1+8n-1)
2 2

~1+1+8(n-1 ~1- f1+8(n-1
= b ;8(n )UX< ;8(n )

~1+/1+8(n-1) x< 1+1+8(n-1)
2 - 2

X{—1+J1+8(n—1)}+1

2

QED

T (%) x-1 [ﬂ X 2

[1} X O(x=1(mod2)) -1(x=0(mod2)) 2

( +k =—-k(mod2) )
: ‘
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T(x,1) L..(n) X x- 1
Knuth L..(n) T(x,i)
T(X,1)
DTxi)>2  [T(xi)-T(xi-D|=2
n n n-1
n (fig24 ) n+1 n
n n-1 n+1
k k+2 k-2 (
2
fig23 fig24 fig26
(2) T(xi)=1->T(xi+)=2> X
T(xi)=2->T(xi+1)=1 X
1 2 2
2 (1)
L,.(n) X x-1 T(x,1)
X n L,.(n)
L, (n) = [x - 2i[+| — X:{—1+\,1+8(n—1)}1 »i=n-P, P.=Cl+1
{x+1} 2
2
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L, (n) =|x- 2i|+

1.  Alogorithm L —1(n)
2. |
3. X<« Int([(-D)+Sart(1+8* (n-1))]/2)+1
4, |« n—-x*(x-1)/2-1
5. L-1(n) < Abs(x—2*i)+ I nt(i /I nt((x+2)/ 2))
6. }
Statement Steps

1. Alogorithm L —1(n) 0(0)

2. { O(0)

3 X<« Int([(-D+Sart(1+8* (n-1))]/2)+1 o)

4. i<n-x*(x-1/2-1 o) o(n*)

5 L-1(n) < Abs(x—2*i)+Int(i /I nt((x+2)/ 2)) o o®

6. } O(0)

Total o@D
4 m
m
m+1
m m

1. Algorithm g(m,n)
2. {
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m’ —m+2

3. M)
gml) «—
4, for i=m+1ton
P

5. symmetry<—I ti+2
6. g(m,i — m+1) < symmetry + symmetry — g(m,i —m)
1. next
8. 1}

Statement Steps
1. Algorithm g(m,n) 0(0)
2. { O(0)

m’ —m+ 2
3. g(ml« — o@®
4, for i:=m+1ton o(n)
P
5. symmetry « 1 F 2 o
6. g(m,i — m+1) «— symmetry + symmetry — g(m,i —m) o®
7. next 0@
8 } O(0)
Total O(n)
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T_l(X, m) — [g} _|:g:| ,X= m(mod 2)

X=m-+1(mod?2) m [_}

SREE N p——

QED

p—p+l

t p+1 p K

2k=t (mod2)
(t+1)p*)p+l_tp~)p+1: —

0,k=t+1(mod?2)
k=t+p-1

(t+p-1) k=t+p-1

2st1 = 2s

[g(t+1 p+1)-g(t, p+D]-[g(t+1 p)—g(t, p)]
=[g(t+1L p+D-g(t+1 p)-[g(t, p+1)-g(t, p)]
=(t+1)

p—p+l t p—>p+l

L () fig27 k t
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(Dk =t(mod2)

L, ()

t=0(mod2)

t=1(mod 2)

L(n)

......... @tt.pl MH.:LI

m ......... teet+1---

p pl p ptl
fig27

fl 927 tp—> p+1 (t + 1) p—>p+l

=k+THk+1t)+1-T*(k,t)-1
=(k+D)+THk+2t+D)+1-T(k

pa p+1

(t+2)

p—p+l

k+2 t+1 K+
(t+1),Hp+l pos pil (k+1+{ 5 }+|:T:|+l—|:7

ez 2

k+2 t+1 k+1
(C+D) s p—topn = [T}F 2{7} 2{7} 2[

k+2 k
(t + 1) pop+l pa p+1 =

=2

(t + 1) pop+l pa p+l

......... @t+1t Mtt+1

+1Lt+)-1
1}{t+1} )
2

_1)

o

——+t-k-t+—+1
2

k-1

(t+1) (k+D)—(t- 1)+T+1

p-1 p p+tl p
fig28

(2)k =t +1(mod2)

L ()

fl 928 tpa p+1 (t + 1) p—p+l
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=k+THk+1Lt)+1-T*(k,t)-1
(t+D) 0 = (K+D+THk+2t+D) +1-TH(k+1t+1) -1

(t+1)FHP+1 p—p+l = (k+1+ {k+2}+{ﬂ}+l—{ﬂ}{t+l} 1)
2 2 2 5
e K et a K] £
2 2 2 >
_Z[k”}z[lﬂ_m_[E}ZH_l

pa p+1

t=0(mod 2)
(t+1),,,0—t, =kt 2—2_%_@ _1)-1
=0
t =1(mod 2)
(t+1), 0ty = kot (t+ 2)—5_‘%2_@ _1)-1
=0
(t‘f‘l)p%erl p {i,i;i:: (m0d2)
,k =t+1(mod 2)
QED
m n
_(n+m-DH(n+m-2) n+m-1| ~ | m
g [, o
2 .g(m,n)_M = ] 1+ (2n+m—22)(m—1)+(m_1)[12+(_1)n]
gL n)
1 2,2,4,46,688,10- -
1
gwm =" 1
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gL n)

1 1 n
n
n(n—l)le
2
1 n
roa-[geaf2}
2 2] |2
1 n
g(m,n)
-1
m n
o(m n):(n+m—1)(n+m—2)+1J{n+m—l}r(_l)n[m}
' 2 2 2
m m (n+m-1)
n
(n+m—1)§n+m—2)Jrl
m (n+m-1)

T*(n+m-1m)
T*(n+m-1m)

Tn+m-1,m) :{nJrzm_l}-k(—l)”{g}

g(mn) = (n+m-D(n+m-2) +1J{n+r2n—1}+(_l)n{m}

2
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-2
n

g(m.n) =

—2)(m-3)  (m-D[1+(D"]

n(n_1)+[g]+l+ (2n+m

2 2

gL n)

g(mn)=g(m-Ln)+n+(m-2)+

QQJO=90J0+n+(

g(3,n) = g(2,n)+(n+1)+[

g(m,n)=g(m-1n)+(m+ n—2)+[

g(m,n)=g(m-1,n)+(m+ n—2)+(

g(m,n)

n(n-1)

g(mn) =——

giLn)=

m

n
+[=]+1+
5]

n(n-1)

1+(-D"
2

+[g]+l

1"+ (="
2

1"+ (-D"
2

m-1
g(ml) =g(m-1) +(m-1

(2n+m-2)(m-1) N (m-D[1+(-D"]

1"+ (-1"
2

1"+ (-D"
2

2 2
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modp( p 2

mod k ( k

<n=j>

2k

<m=i>

a,b,c

ax’ +bx+c

f(x)

f(x+ p) (mod p)

f(x)
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0 = 2apx+ap”+bp (mod p)
ax’ +bx+c = (ax® +bx+c) + 2apx+ap2+bp (mod p)
ax® +bx+c=a(x+m)*+b(x+m)+c (mod p)
f(X)= f(x+ p) (mod p)

QED
-1
<n=j> mod p( p , ) p
n 2r  2r-1 g(mn)
n=2r-1
2 2
g(mn)=2r2—2r 41 B =4+ m(m=1) _m +(4r—5)2+4r —8r +6
n=2r
2 2
g(mn)=2r*+1+ (4r+m(m-1) m+(4r-Dm+4r"—4r+2
2 2
g(mn) el
m? + (4r —5)+4r2 —8r +6
M’ + (4r —)m-+4r® —4r +2
p
QED
-2
<m=i> mod k ( k 2 ) o
-2 m 2
2k
QED
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1,1,2,3,5,8,13,21

___________________ <_<_
21132182113513218382113525132183

=6) 1359 13 19 g(Ln)
F(7) 2 6 8 14 18 g(2.n)
F(3) 3 6 10 15 21 g(m,2)
F2) 1247 11 16 g(m.2)
N n»3 Q(i,j):FF—(ij)) n>j>iz2

Q(, j)

Ql,j) ] gin-j+1j)

QG,j) i g(i,i-1)

Knuth

1121321352138521381352
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F(8),F(7),F(8),F(6),F(8),F(7),F(5),F(7),F(8),F(6),F(4),
F(6).F(8).F(5),F(7).F(3).F(7),F(5),F(8),F(6).F(4)
F@) i
8,7,8,6,8,7,5,7,8,6,4,6,8,7,5,3,5,7,8,6,4,

( 8 1 1)
1,2,1,3,1,2,4,2,1,3,5,3,1,2,4,6,4,2,1,3,5
L (N)
Knuth
Knuth
Knuth
L. () Q(, j)
2 Ln(N)
L. (n) L,(n)
( 1) 7
( 2) 6 7 6
( 3) 5 6 5
( 4) 4 5 4 5 6
( 5 4 5 3 4
( 6) 3 4 2 3
( 7 2 3 1 2 L, (n)
(1) 7
(2) 676

(3) 5657565
(4) 4546457546454
(5 343534643575346435343
(6) 2324235324642357532464235324232
(7) 1213124213531246421357531246421353124213121
fig27

L(n) L,.(n) m

k+1 k+2
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b d b b+d d
a>bc>d —<— —-< <=
a a c

E<9 bc < ad
a c¢

ab+bc<ab+ad —>9< b+d

a a+cC

cd +bc < cd+ad —>M<E

a+c cC
b b+d d
a a+c ¢

Q(, j)
y 01 0.1
1 1 1

2) A3 QR3 =%

0 0+1 1 1 1
—<—<= —<=<=
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[l )

3) Q(i,4) Q(2,4) Q(34)

wlk
winN
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1 1+2 2 2+1 1 1 3 2 31

4) Q(1.9) Q(2,5 Q(35 Q4.9

0 0+1 1 +1
—<—<=<

2 +3 3 3
0 1
—<=<
2 5

wlk
N

25

QED
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1 1
0 1 2 1
16395553 n=4
( 4 )9<E<E<E<1<§<E<} n=>5
2 535 2 5 31
( 5)9<E<E<E<E<§<E<l<§<§<g<} n==6
3 85 8 385 258 31
fig28
n Q. j)
n
Q. j)
01 .
(1) 1 11 Q(i, )
2 Qi () °
’ F(j-2)
n n>3 Q(I,J)—F(j) n>j>i>2
Q. J)
Ql.j) i g(n—j+1j)
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1 L.
k k+1 K+1 k+2
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A. Q. 1) J Qi 1)
Q(i, -1 QlI,j-2) F()=F(-D+F(j-2
1 (2-A
t 1 2 L (n)
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Ly(n) 121312421353124213121 5( )

) 1213124213

11 2 1 3 2 1 3 5 2
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8 5 8 5 2 5 8 3
Q(i.6) 1 Q9 2 Q(4 3 Qi3
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if a=0

if b>a
if c>a

if bxc<a

if bxc=a

then Sb=1

then b«a
then c«a

then Sb=0

then Sb=1

[ ‘i?ﬂm~ Bl LE

1 Knuth
2  Knuth
3  Knuth
4  Knuth
5 Knuth

Knuth
Knuth
Knuth
(L,(n) )
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(
( -
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